Penn Central Transportation Co. v. City of NY:   
Reading Comprehension Self-Quiz

(1) According to the majority opinion, the New York City Landmarks Preservation Law allows the owner to alter a landmark site in all of the following situations, except: 
(a) If the Landmarks Commission concludes that the proposed alterations “would not unduly hinder the protection, enhancement, perpetuation, and use of the landmark.”

(b) If a Federal Court determines that, if the alterations are not permitted, there would be an Unconstitutional Taking of the owner’s property.
(c) If the proposed alterations are not permitted, the owner could not make a sufficient return on the property.
(d) If the proposed alterations are in harmony with the appearance of the landmark and will not change any of its architectural features. 

(2)  What does the majority mean by its reference to “essentially ad hoc, factual inquiries” (top of first full paragraph on p.141)? 

(a)  An unstructured arbitrary approach to Takings analysis that it is rejecting.
(b)  The arguments of the Petitioner, which it is accepting.
(c)   The way the Supreme Court had approached Takings analysis in the past, which it was continuing to employ. 
(d)  The way the Supreme Court had approached Takings analysis in the past, which it would no longer employ.
(3) Which of the following available and arguably relevant procedural steps did Penn Central fail to take before filing the lawsuit that resulted in this opinion?

(a) Seeking judicial review of the Landmark Preservation Commission’s designation of Grand Central Station as a “landmark.”  

(b) Seeking judicial review of the Landmark Preservation Commission’s denial of the application to construct an office building atop Grand Central Station.  
(c)  Developing and submitting different plans for the office tower to the Commission.  

(d) All of the above. 

(4) Which of the following considerations does the majority say is not, by itself, part of the Court’s Takings analysis:
(a) Whether a state regulation has denied some owners the ability to exploit a property interest that they had believed was available for development.

(b) Whether a state regulation has interfered with owners’ distinct investment-backed expectations.

(c) Whether the regulation can reasonably be seen to include a physical invasion of owners’ land. 

(d) Whether a regulation is reasonably necessary to the effectuation of a substantial public purpose.

(5) Which of the following statements correctly describes the way the majority characterizes one of the earlier cases we have studied?
(a) There was no Taking in Hadacheck because the challenged city ordinance was stopping a “noxious use” by the landowner.

(b) There was no Taking in Miller because the burdens created by the Cedar Rust Act fell evenly on all of Virginia’s citizens.

(c) There was a Taking in Mahon because the Kohler Act did not substantially further important public policies. 

(d)  Euclid is one of a number of cases demonstrating that a Taking does not occur every time a state regulation leads to a large loss in property value.

(6)  In explaining why there is no Taking despite the Petitioner’s substantial loss of potential income, the majority relies on all of the following except: 
(a)  The Landmarks Preservation Law does not interfere with the present use of Grand Central Station. 

(b) A large loss in property value is insufficient by itself to result in a Taking. 
(c) Other similarly situated New York City landmarks experienced comparable losses.  
(d) The Petitioner was still able to earn a reasonable return on its investment after the Landmark Designation.  

(7)  Which of the following is likely to be helpful in determining how the majority would view examples of the “Denominator Question” that arise in future cases?

(a) The majority’s rejection of the Petitioner’s claim that the Landmarks Law constituted a Taking because it had completely deprived them of their air rights.

(b) The majority’s failure to suggest that, in assessing the economic impact of the Landmarks Preservation law, it should take into account the value of the other parcels the Petitioner owned nearby Grand Central Station.

(c) The majority’s statement (at the end of the last full paragraph on p.143) that, “In deciding whether a particular governmental action has effected a taking, this Court focuses rather both on the character of the action and on the nature and extent of the interference with rights in the parcel as a whole….”

(d) All of the above. 

(8) Which of the following correctly describes how the Justices dealt with Transferable Development Rights (TDRs)?

(a) The majority believed TDRs were irrelevant to the outcome of the case.

(b) The dissent would have remanded the case to determine whether the value of the TDRs was adequate to constitute “Just Compensation” for the Petitioner’s losses. 

(c) The majority believed that the TDRs constituted “Just Compensation” for the Petitioner’s losses. 

(d) The dissent believed that the TDRs proved that the Petitioner’s proposed alterations were not a noxious use.

(9) The Majority and the Dissent agree on which of the following propositions:

(a) The petitioner’s loss must be measured looking at the parcel as a whole.

(b) There is no Constitutional difference between a regulation preventing a harm and one providing a benefit.

 
(c) Hadacheck remains good law.

(d) There was no reciprocity of advantage in this case. 
(10) The dissenting opinion believes that historic preservation is different from ordinary zoning in all of the following ways except: 


(a) Historic preservation creates no reciprocity of advantage.

(b) Historic preservation does not have a valid public purpose. 
(c) Historic preservation affects a relatively small number of parcels that are widely separated from each other.  
(d)  Historic preservation can impose much more significant economic harm on regulated parcels. 
(11) The dissenting opinion indicates that all of the following are problems with the majority’s reliance on “reasonable rate of return,” except: 
(a)  The Petitioner was not in fact receiving a reasonable rate of return on Grand Central Station.

(b) It is hard to determine what rates of return should be considered reasonable for different types of land.
(c) It raises the Denominator Question, because you have to measure the rate of return from a particular piece of property.

(d) It does not take into account “the character of the invasion.”
(12) The overall thrust of the dissenting opinion most resembles the position of which of the theorists we’ve studied?


(a) Epstein

(b) Michelman

(c) Sax

(d) Rose
